@Husqma TC 50 MINI 2021 <2021><EU><F2001U5>

ENGINE CASE

19032

Dichtungssatz
Gasket-Set
Pos Part Number Description Additional Text Quantity
1 45230000333 ENGINE CASE CPL. 508X 1.00
2 45230039000 ENGINE CASE GASKET 1.00
3 58030021000 OILDRAIN PLUG W.MAG. M 12X1,5 1.00
4 58038022000 CU-seal ring DIN7603-12X18X1.5 1.00
5 46230024000 DOWEL 12X9X14,5 1.00
6 58330023000 DOWEL 17 X 14 X 9,5 1.00
7 46230023000 DOWEL 10X8,2X10 2.00
8 46030043000 STUD M8X41 4.00
9 58336020190 VACUUM CONECTION M6/3MM '97 SECONDARY AIR 1.00
SYSTEM

10 45230017000 BEARING BRACKET 1.00
1" 0019050106S hex lobe countersunc screw M5x 2.00
12 45230060000 CHAIN GUARD 1.00
13 0025060356 HH collar screw M6x35 TX30 5.00
14 0325080200 CYLINDER STUD DIN6325 8X20 M6 1.00
15 0025060556 HH collar screw M6x55 TX30 2.00




16 0025060306 HH collar screw M6x30 TX30 4.00
17 0025060406 HH collar screw M6x40 TX30 3.00
18 31007007101 PVC-HOSE 4X6MM 0.00
19 45230089000 YDNAC-CLAMP 10068 (6,8MM) 1.00
20 45230099000 GASKET SET 50 SX 2009 1.00
23 0025080356 HH collar screw M8x35 TX40 1.00
24 0472035150 CIRCLIP DIN0472-35X1,5 1.00
25 0603061001 CU-SEAL RING DIN7603-6X10X1 1.00
26 0025060086 HH collar screw M6x8 TX30 1.00




